
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

TRIGONOMETRIC FUNCTIONS

Wb Jee Workout Category 1 Single Option Correct Type 1 Mark

1. 

A. 7

B. 8

C. 11

D. none of these

Answer: C

W h Vid S l i

cos A = ⇒ 32 sin( )sin( ) =
3

4
A

2
5A

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8ODaUyJ9EXsf


Watch Video Solution

2.  is equal

to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + cos. )(1 + cos. )(1 + cos. )(1 + cos. )
π

8

3π

8

5π

8

7π

8

1

2

cos π /8

1

8

1 + √2

2√2

3. If  and  is an acute angle , then  is equal to

A. 

B. 

sin 2θ = cos 3θ θ sin θ

√5 − 1

4

−( )
√5 − 1

4

https://dl.doubtnut.com/l/_8ODaUyJ9EXsf
https://dl.doubtnut.com/l/_ZxQXpkf28Pos
https://dl.doubtnut.com/l/_MQG2OrhdVkbh


C. 

D. 

Answer: A

Watch Video Solution

√5 + 1

4

−√5 − 1

4

4. If , when , then the values of 

are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5 cos 2θ + 2cos2 + 1 = 0
θ

2
(0 < θ < π) θ

π /3

π /3, cos − 1(3/5)

cos − 1(3/5)

π /3, π − cos − 1(3/5)

https://dl.doubtnut.com/l/_MQG2OrhdVkbh
https://dl.doubtnut.com/l/_xHpWhr6LIq2F
https://dl.doubtnut.com/l/_KfYoSXVBmy7f


5. The equation  where x is a variable,

has real roots. then the interval of p may be any one of the following :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(cos p − 1)x2 + cos px + sin p = 0

(0, 2π)

( − π, 0)

( − π /2, π /2)

(0, π]

6. The value of  is

A. 

B. 

C. 

D. none of these

sin( )sin( )sin( )
π

14

3π

14

5π

14

1/16

1/8

1/2

https://dl.doubtnut.com/l/_KfYoSXVBmy7f
https://dl.doubtnut.com/l/_ftyMjnSZzpKu


Answer: B

Watch Video Solution

7. If , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos θ + √3 sin θ = 2 θ =

π /3

2π /3

4π /3

5π /3

8. if , 

and  then 

1 + sin x + sin2 x + sin3 x + .......... . ∞ = 4 + 2√3 0 < x < π

x ≠
π

2
x

https://dl.doubtnut.com/l/_ftyMjnSZzpKu
https://dl.doubtnut.com/l/_48Sww2KwDuif
https://dl.doubtnut.com/l/_VSVf6Gkav2m1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

6

π

4

or 
π

3

π

6

 or
π

3

2π

3

9. If , then .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan(π cos θ) = cot(π sin θ) cos(θ − ) = ±
π

4

1

2√2

±
1
2

±
1

√2

±
1

2√2

±
1

4

https://dl.doubtnut.com/l/_VSVf6Gkav2m1
https://dl.doubtnut.com/l/_68xb7mbJ3mef


10. Solve: 


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

cot θ +cos ecθ = √3

2nπ + π /6

2nπ + π /3

2nπ − π /6

11. If then

A. 

B. 

C. 

y '
sec2 θ − tan θ

sec2 θ + tan θ

≤ y ≤ 3
1

3

y ∈ [ , 3]
1

3

−3 < y < −
1

3

https://dl.doubtnut.com/l/_68xb7mbJ3mef
https://dl.doubtnut.com/l/_lKzvqubksWEZ
https://dl.doubtnut.com/l/_KWcPD9U2h627


D. none of these

Answer: A

Watch Video Solution

12. The number of solutions of the equation 

A. 2

B. 3

C. 4

D. none of these

Answer: D

Watch Video Solution

sin2 x = 1/4i

13. The solution of the equation  lies in the intervalcos2 θ + sin θ + 1 = 0

https://dl.doubtnut.com/l/_KWcPD9U2h627
https://dl.doubtnut.com/l/_YBfhXJezb8hV
https://dl.doubtnut.com/l/_B5XbZN42qCcr


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − π /4, π /4)

(π /4, 3π /4)

(p3π /4, 5π /4)

(5π /4, 7π /4)

14. The general value of  satisfying the equation

 is

A. 

B. 

C. 

D. 

Answer: D

θ

2 sin2 θ − 3 sin θ − 2 = 0

nπ + ( − 1)n
π /6

nπ + ( − 1)n
π /2

nπ + ( − 1)n5π /6

nπ + ( − 1)n7π /6

https://dl.doubtnut.com/l/_B5XbZN42qCcr
https://dl.doubtnut.com/l/_YXPQ6mo54ar4


Watch Video Solution

15. The value of  is

A. 0

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

cos + cos + cos + cos + cos ,
π

11

3π

11

5π

11
7π

11

9π

11

−1/2

1/2

16. If  then 

A. 

B. 

C. 

A + B + C = π sin 2A + sin 2B + sin 2C =

4 cos A cos B cos C

4 sin A sin B sin C

2 sin A sin B sin C

https://dl.doubtnut.com/l/_YXPQ6mo54ar4
https://dl.doubtnut.com/l/_xOTZElByBwJ2
https://dl.doubtnut.com/l/_b2ETZZl7zRun


D. 

Answer: B

Watch Video Solution

8 sin A sin B sin C

17. If , then the values of x between 0 and  are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin2 x − cos x = 1/4 2π

π /3, 5π /3

π /3, − π /3

2π /3, π /3

2π /3, 5π /3

18. If , then A + B + C = π cos 2A + cos 2B + cos 2C =

https://dl.doubtnut.com/l/_b2ETZZl7zRun
https://dl.doubtnut.com/l/_vjcoTgNenycY
https://dl.doubtnut.com/l/_TwCKoiTxdJES


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

1 + 4 cos A cos B sin C

−1 + 4 sin A sin B cos C

−1 − 4 cos A cos B cos C

19. If  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = sin α, y = sin β, z = sin(α + β) cos(α + β) =

z2 − x2 − y2

xy

z2 − x2 − y2

2xy

z2 + x2 + y2

xy

x2 + y2 + z2

2xy

https://dl.doubtnut.com/l/_TwCKoiTxdJES
https://dl.doubtnut.com/l/_Ya7FvXQsLlUD


20. The general solution ofthe trigonometrical equation

 for  is given by (a)  (b) 

 (c)  (d) non of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

sin x + cos x = 1 n = 0, ± 1, ± 1 x = 2nπ

x = 2nπ +
π

2
x = nπ + ( − 1)n −

π

4

π

4

x = 2nπ

x = 2nπ + π /2

x = nπ + ( − 1)n
π /4 − π /4

21. If A, B, C are the angles of a triangle then

 is equal to

A. 1

sin2 A + sin2 B + sin2 C − 2 cos A cos B cos C

https://dl.doubtnut.com/l/_Ya7FvXQsLlUD
https://dl.doubtnut.com/l/_4lmJD7VM322f
https://dl.doubtnut.com/l/_cjsrzQlfDkwb


B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

22. If , then the value of x other than zero

between  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 5x + sin 3x + sin x = 0

0 ≤ x ≤ π /2

π /6

π /12

π /3

π /9

https://dl.doubtnut.com/l/_cjsrzQlfDkwb
https://dl.doubtnut.com/l/_rB4I4VIBhKcZ


23. In a 

A. 0

B. 

C. 1

D. none of these

Answer: B

Watch Video Solution

ΔABC, cot + cot + cot =
A

2
B

2

C

2

cot A cot B cot C
1

2

1

2

1

2

24. The equation  has

A. Only one solution

B. Two solution

C. No solution

D. Infinite number of solutions

cos x + sin x = 2

https://dl.doubtnut.com/l/_rB4I4VIBhKcZ
https://dl.doubtnut.com/l/_K0k8iosmZbRg
https://dl.doubtnut.com/l/_sjnNOydkMA58


Answer: C

Watch Video Solution

25. The general value of  satisfying , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

θ tan2 2θ = 3

2nπ ± π /3

nπ ± 2π /3

nπ /2 ± π /6

26. If tan , then the values of  form a series in

A. A.P.

pθ − tan qθ = 0 θ

https://dl.doubtnut.com/l/_sjnNOydkMA58
https://dl.doubtnut.com/l/_TMN4W986A5E9
https://dl.doubtnut.com/l/_SsJTi9J30WtK


B. G.P.

C. H.P.

D. none of these

Answer: A

Watch Video Solution

27. Find the general solutions of the following
equation: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan2θtanθ = 1

π /3

(6n ± 1)π /6

(4n ± 1)π /6

2nπ ± π /6

https://dl.doubtnut.com/l/_SsJTi9J30WtK
https://dl.doubtnut.com/l/_Tlidv9aSoMZS
https://dl.doubtnut.com/l/_j6eXhuZNmi8E


28. If ,

then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0 < A < B < π, sin A − sin B = , cos A − cos B = √
1

√2

3

2

A + B =

2π

3

5π

6

π

4π

3

29. The set of values of x for which  is

A. 

B. 

C. 

D. 

= 1
tan 3x − tan 2x

1 + tan 3x tan 2x

ϕ

{π /4}

{nπ + π /4: n = 1, 2, 3, . . . }

{2nπ + π /4: n = 1, 2, 3, . . . }

https://dl.doubtnut.com/l/_j6eXhuZNmi8E
https://dl.doubtnut.com/l/_reftpwaEtKhf


Wb Jee Workout Category 2 Single Option Correct Type 1 Mark

Answer: A

Watch Video Solution

30. If  then the value of A im terms of B, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sinA = sinB, cosA = cosB,

nπ /B

nπ + ( − 1)n
B

2nπ + B

2nπ − B

https://dl.doubtnut.com/l/_reftpwaEtKhf
https://dl.doubtnut.com/l/_HzJLTAHtqy2B


1. Given 
 then for all real 
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = sin2 θ + cos2 θ, θ, 1 ≤ A ≤ 2

≤ A ≤ 1
3

4
≤ A ≤ 1

13

16
≤ A ≤

3

4

13

16

1 ≤ A ≤ 2

≤ A ≤ 1
3

4

≤ A ≤ 1
13

16

≤ A ≤
3

4

13

16

2. If , then  is equal to
 (i) 
 (ii) 
 (iii)

(iv) none of these

A. p

B. q

C. pq

=
cos θ

p

sin θ

q
+

p

sec 2θ

q

cos ec 2θ
p q pq

https://dl.doubtnut.com/l/_bXpeSEoSAFlj
https://dl.doubtnut.com/l/_QloiHpKLrXVx


D. 

Answer: A

Watch Video Solution

p

q

3. The value of

is zero is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

cos y cos( π − x) − cos( π − y)cos x + sin y cos( π − x) + cos x sin
1

2

1

2

1

2

x = 0

y = 0

x = y + π /4

x = 3π /4 + y

https://dl.doubtnut.com/l/_QloiHpKLrXVx
https://dl.doubtnut.com/l/_ZGEwktmS5aJR
https://dl.doubtnut.com/l/_zMDtpKE26l24


4. The equation  possesses a solution if

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

a sin x + cos 2x = 2a − 7

a > 6

2 ≤ a ≤ 6

a > 2

5. If  lies between,

A. 

B. 

C. 

D. 

2 sin = √1 + sin A + √1 − sin A, then
A

2

A

2

2nπ +  and 2nπ + , n ∈ I
π

4

3π

4

2nπ −  and 2nπ + , n ∈ I
π

4

π

4

2nπ −  and 2nπ − , n ∈ I
3π

4

π

4

−∞  and + ∞

https://dl.doubtnut.com/l/_zMDtpKE26l24
https://dl.doubtnut.com/l/_Z0k4cor2xPFn


Answer: A

Watch Video Solution

6. The value of  is

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos '(2pi)/(15)cos(4pi)/(15)cos(8pi)/(15)cos ,
14π

15

1

2

1

4

1

16

7. Find the gereral of the equation

.sin x − 3 sin 2x + sin 3x = cos x − 3 cos 2x + cos 3x

https://dl.doubtnut.com/l/_Z0k4cor2xPFn
https://dl.doubtnut.com/l/_6AzvCLQswmCs
https://dl.doubtnut.com/l/_e3kdGUSQGMwD


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nπ + π /8

nπ /2 + π /8

( − 1)n
nπ /2 + π /8

2nπ + cos − 1(3/2)

8. If , then the value of  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

cos x = tan y, cos y = tan z, cos z = tan x sin x

2cos 18∘

cos 18∘

sin 18∘

2sin 18∘

https://dl.doubtnut.com/l/_e3kdGUSQGMwD
https://dl.doubtnut.com/l/_a0kFTfCWmVyb


9. The equation , has a real solution if

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin6 x + cos6 x = a

1/2 ≤ a ≤ 1

1/4 ≤ a ≤ 1

−1 ≤ a ≤ 1

0 ≤ a ≤ 1/2

10. 

A. 

B. 

C. 

− =
sin2 3A

sin2 A

cos2 3A

cos2 A

cos 2A

8 cos 2A

cos 2A
1

8

https://dl.doubtnut.com/l/_a0kFTfCWmVyb
https://dl.doubtnut.com/l/_JoHaiB3qR2Ft
https://dl.doubtnut.com/l/_uf6cwNSM3yCr


D. none of these

Answer: B

Watch Video Solution

11. Find the general solution of the equation

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

(√3 − 1)sin θ + (√3 + 1)cos θ = 2

2nπ ± π /4 + π /12

nπ + ( − 1)n
π /4 + π /12

2nπ ± π /4 − π /12

nπ + ( − 1)n
π /4 − π /12

https://dl.doubtnut.com/l/_uf6cwNSM3yCr
https://dl.doubtnut.com/l/_pS5IszFtQylH


12. The number of solutions of equation  lying in

the interval  is

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

tan x + sec x = 2 cos x

[0, 2π]

13. If  then

A. 

B. 

C. 

D. 

sin A + cos A = man sin3 A + cos3 A = n,

m3 − 3m + n = 0

n3 − 3n + 2m = 0

m3 − 3m + 2n = 0

m3 + 3m + 2n = 0

https://dl.doubtnut.com/l/_cA0FD8CYM1eZ
https://dl.doubtnut.com/l/_ZTrzIyCQv3t5


Answer: C

Watch Video Solution

14. If  and  , then  is (1) 
 (2)


( 3) 
(4) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0 < x < π cos x + sin x =
1

2
tan x

4 − √7
3

−
4 + √7

3
1 + √7

4
1 − √7

4

−
(4 + √7)

3

1 + √7

4

1 − √7

4

4 − √7

3

15. In any , if 

,

ΔABC

(sin A + sin B + sin C) × (sin A + sin B − sin C) = 3 sin A sin B

https://dl.doubtnut.com/l/_ZTrzIyCQv3t5
https://dl.doubtnut.com/l/_WanSwFAqEHj7
https://dl.doubtnut.com/l/_XYXPutFfgPy2


Wb Jee Workout Category 3 One Or More Than One Option Correct Type 2

Mark

then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

A = 60∘

B = 60∘

C = 60∘

1. If the value of  is ,

then which of the following is true ?

A. k is prime

B. factors of k are 1,7

cos cos cos cos cos cos cos
π

15

2π

15

3π

15
4π

15

5π

15

6π

15
7π

15

1

2k

https://dl.doubtnut.com/l/_XYXPutFfgPy2
https://dl.doubtnut.com/l/_Dkv4EfOHkmPq


C. k is odd

D. k is even

Answer: A::B::C

Watch Video Solution

2. The value of  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

tan 5θ

5 tan θ − 10 tan3 θ + tan5 θ

1 − 10 tan2 θ + 5 tan4 θ

5 tan θ + 10 tan3 θ − tan5 θ

1 + 10 tan2 θ − 5 tan4 θ

5 tan5 θ − 10 tan3 θ + tan θ

1 − 10 tan2 θ + 5 tan4 θ

https://dl.doubtnut.com/l/_Dkv4EfOHkmPq
https://dl.doubtnut.com/l/_yPHNEcjlvMko


3. Consider the system in ordered pairs  of real numbers 

, . The number of ordered pairs

 satisfying the system is

A. 2

B. 4

C. 6

D. Infinite

Answer: C

Watch Video Solution

(x, y)

sin x + sin y = sin(x + y) |x| + |y| = 1

(x, y)

4.  is an integer divisible by

A. 2

B. 3

S =
4

∑
r= 1

tan2(2r − 1)
π

16

https://dl.doubtnut.com/l/_V6jzL8TUsizJ
https://dl.doubtnut.com/l/_DSiscXJWbCd1


C. 5

D. 7

Answer: A::D

View Text Solution

5. In a triangle ABC ,angle A is greater than B.If the measures of angles

Aand B satisfy the equation , then

the measure of angle C, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3 sin x − 4 sin3 x − k = 0, 0 < k < 1

π /3

π /2

2π /3

5π /6

https://dl.doubtnut.com/l/_DSiscXJWbCd1
https://dl.doubtnut.com/l/_dFTsimFIWAky


6. let , ,  and 

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

0 < ϕ <
π

2
x =

∞

∑
n = 0

cos2n ϕ y =
∞

∑
n = 0

sin2n ϕ

z =
∞

∑
n = 0

cos2n ϕ sin2n ϕ

xyz = zx + y

xyz = xy + z

xyz = x + y + z

xyz = yz + x

7. For a positive integer n ,

,

then

A. 

fn(θ) = ( )(1 + sec θ)(1 + sec 2θ)(1 + sec 4θ).... (1 + sec 2nθ. )
tan θ

2

f2( ) = 1
π

16

https://dl.doubtnut.com/l/_dFTsimFIWAky
https://dl.doubtnut.com/l/_lQp6GGFBlUWk
https://dl.doubtnut.com/l/_H7xGoASURnv6


B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

f3( ) = 1
π

32

f4( ) = 1
π

64

f5( ) = 1
π

128

8. If , then 

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

tan3 θ + cot3 θ = 8  cosec32θ + 12 θ =

− ( − 1)nnπ

2

π

12

+ ( − 1)nnπ

2

π

12

+ ( − 1)nnπ

2
7π

12

− ( − 1)nnπ

2
7π

12

https://dl.doubtnut.com/l/_H7xGoASURnv6
https://dl.doubtnut.com/l/_gPxRSO9PTowF
https://dl.doubtnut.com/l/_kMjIZ0DUsrK3


9. The value(s) of 
 , which satisfy


 is/are
 
 (b) 


 
(d) 

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

θ

3 − 2 cos θ − 4 sin θ − cos 2θ + sin 2θ = 0 θ = 2nπ; n ∈ I

2nπ + ; n ∈ I
π

2
2nπ − ; n ∈ I

π

2
nπ : n ∈ I

nπ

2nπ

2nπ +
π

2

2nπ +
π

4

10. 

A. 

B. 

C. 

=
tan θ + sec θ − 1

tan θ − sec θ + 1

1 − sin θ

cos θ

1 + sin θ

cos θ

cos θ

1 − sin θ

https://dl.doubtnut.com/l/_kMjIZ0DUsrK3
https://dl.doubtnut.com/l/_TNW6ywByaHXq


D. 

Answer: B::C

Watch Video Solution

cos θ

1 + sin θ

11. If , then

A. 

B. 

C. 

D. 

Answer: A::C::D

View Text Solution

=
cos x − cos α

cos x − cos β

sin2 α cos β

sin2 β cos α

cos x =
cos α + cos β

1 + cos α cos β

cos x =
cos α + cos β

1 − cos α cos β

tan = tan tan
x

2
α

2

β

2

tan = − tan tan
x

2
α

2

β

2

https://dl.doubtnut.com/l/_TNW6ywByaHXq
https://dl.doubtnut.com/l/_lwVoT6ZqIoqa


12. If  and ,

then

A. 

B. 

C. 

D. 

Answer: A::B::C

View Text Solution

cos θ + cos ϕ = α, cos 2θ + cos 2ϕ = β cos 3θ + cos 3ϕ = γ

cos2 θ + cos2 ϕ = 1 +
β

2

cos θ. cos ϕ = −
α2

2

β + 2

4

2α2 + γ = 3α(1 + β)

α + β + γ = 2αβγ

13.  if 

A. 

B. 

C. 

D. 

sin x = sin x ∘ x =

180π

180 + π

180π

180 − π

360π

180 − π

360π

180 + π

https://dl.doubtnut.com/l/_ozvAdfX8moJz
https://dl.doubtnut.com/l/_jjiZ285nM6f4


Answer: A::C

Watch Video Solution

14. If , where , then

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

=
cos A

cos B

x

y
A ≠ B

= tan( )
x tan A + y tan B

x + y

A + B

2

= tan( )
x tan A − y tan B

x + y

A − B

2

=
y sin A + x sin B

y sin A − x sin B

sin(A + B)

sin(A − B)

x cos A + y cos B = 0

15. If  and , then

A. 

< A < 2π
3π

2
sin A = − 7/25

sin 2A =
336

625

https://dl.doubtnut.com/l/_jjiZ285nM6f4
https://dl.doubtnut.com/l/_Npb4iFzka2dT
https://dl.doubtnut.com/l/_2v6v53gCd7Oy
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B. 

C. 

D. 

Answer: A::C

Watch Video Solution

cos =
A

2

√2

5

tan = −
A

2

1

7

tan = −
A

2

√2

10

1. For , if , then the value of 

 is equal to

A. 1

B. 

C. 

D. 

0 ≤ P , Q ≤
π

2
sin P + cos Q = 2

tan( )
P + Q

2

1

√2

1

2

√3

2

https://dl.doubtnut.com/l/_2v6v53gCd7Oy
https://dl.doubtnut.com/l/_EVvcQMYnIzEv


Answer: A

Watch Video Solution

2. The value of  is

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

cos2 75∘ + cos2 45∘ + cos2 15∘ − cos2 30∘ − cos2 60∘

1/2

1/4

3. Find maximum and minimum value of 

A. 1 and 1/4

sin6 θ + cos6 θ

https://dl.doubtnut.com/l/_EVvcQMYnIzEv
https://dl.doubtnut.com/l/_wQkhRIpCddm6
https://dl.doubtnut.com/l/_rB6oV3ZkpbHo


B. 1 and 0

C. 2 and 0

D. 1 and 1/2

Answer: A

Watch Video Solution

4. Let . Then for all values of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(θ) = (1 + sin2 θ)(2 − sin2 θ) θ

f(θ) >
9

4

f(θ) < 2

f(θ) >
11

4

2 ≤ f(θ) ≤
9

4

https://dl.doubtnut.com/l/_rB6oV3ZkpbHo
https://dl.doubtnut.com/l/_S3g35Q6XMOi6
https://dl.doubtnut.com/l/_MmCuXJLcOTww


5. Find the value 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan( ) + 2 tan( ) + 4 cot( ).
π

5

2π

5
4π

5

cot
π

5

cot
2π

5

cot
4π

5

cot
3π

5

6. If  then the value of k is

A. 1

B. 2

C. 3

D. 

cot + tan( ) = cos ec ,
2x

3

x

3

kx

3

−1

https://dl.doubtnut.com/l/_MmCuXJLcOTww
https://dl.doubtnut.com/l/_OUYVEEH5EnNm


Answer: B

Watch Video Solution

7. If  then the value of 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

θ ∈ ( , ),
π

2

3π

2

√4 cos4 θ + sin2 2θ + 4 cot θ cos2( − )
π

4
θ

2

−2 cot θ

2 cot θ

2 cos θ

2 sin θ

8. The number of real solutions of the equation

 is(sin x − x)(cos x − x2) = 0

https://dl.doubtnut.com/l/_OUYVEEH5EnNm
https://dl.doubtnut.com/l/_LGR3t6qiGIDT
https://dl.doubtnut.com/l/_u5INFSlYr5KU


A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

9. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{x ∈ R  :|cos x| ≥ sin x} ∩ [0, ] =
3π

2

[0, ] ∪ [ , ]
π

4

3π

4

3π

2

[0, ] ∪ [ , ]
π

4

π

2

3π

2

[0, ] ∪ [ , ]
π

4

5π

4

3π

2

[0, ]
3π

2

https://dl.doubtnut.com/l/_u5INFSlYr5KU
https://dl.doubtnut.com/l/_LQ1HldjhAwkR


10. The value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 15∘ cos(7 )
∘

sin(7 )
∘

1
2

1
2

1
2

1

8

1

4

1

16

11. The smallest positive root of the equation 
 lies in



(b) 
 
(d) 

A. 

B. 

tan x − x = 0

(0, )
π

2
( , π)

π

2
(π, )

3π

2
( , 2π)

3π

2

(0, π /2)

(π /2, π)

https://dl.doubtnut.com/l/_LQ1HldjhAwkR
https://dl.doubtnut.com/l/_IdMT6N7oV5cz
https://dl.doubtnut.com/l/_qES9abAOchgv


C. 

D. 

Answer: C

Watch Video Solution

(π, )
3π

2

( , 2π)
3π

2

12. The equation  has real solutions, where k is a

real number. Then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin x(sin x + cos x) = k

0 ≤ k ≤
1 + √2

2

2 − √3 ≤ k ≤ 2 + √3

0 ≤ k ≤ 2 − √3

≤ k ≤
1 − √2

2

1 + √2

2

https://dl.doubtnut.com/l/_qES9abAOchgv
https://dl.doubtnut.com/l/_94OfR1DGAT7S
https://dl.doubtnut.com/l/_mYaoG5g605rr


13. The approximate value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin 31∘

> 0.5

> 0.6

< 0.5

< 0.4

14. If , then general value of  is

A. 

B. 

C. 

D. 

sin 6θ + sin 4θ + sin 2θ = 0 θ

, nπ ±
nπ

4

π

3

, nπ ±
nπ

4

π

6

, 2nπ ±
nπ

4

π

3

, 2nπ ±
nπ

4

π

6

https://dl.doubtnut.com/l/_mYaoG5g605rr
https://dl.doubtnut.com/l/_kG5SO6YWLjx4
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Answer: A

Watch Video Solution

15. If , then the number of real values of x is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

esin x − e − sin x − 4 = 0

https://dl.doubtnut.com/l/_kG5SO6YWLjx4
https://dl.doubtnut.com/l/_VKw0bck5K2dn


1. If  then find value of 

A. 1

B. 4

C. 9

D. 18

Answer: D

Watch Video Solution

sin2 θ + 3 cos θ = 2, cos3 θ + sec3 θ :

2. Minimum value of  is

A. 

B. 

C. 

D. 2

2sin x + 2cos x

21 − 1 / √2

21 + 1 / √2

2√2

https://dl.doubtnut.com/l/_P1DGTPD1x8YV
https://dl.doubtnut.com/l/_OQpogmWnFQmU


Answer: A

Watch Video Solution

3. 

A. is equal to zero

B. lies between 0 and 3

C. is a negative number

D. lies between 3 and 6

Answer: C

Watch Video Solution

cos. + cos. + cos.
2π

7

4π

7

6π

7

https://dl.doubtnut.com/l/_OQpogmWnFQmU
https://dl.doubtnut.com/l/_rYA2cstGTyX0

